Coppright O Glener/MeGraw-Hill, 1 division of “The MeGraw-1Gl Companis, fse,

Section 4.7 Population Dynamics

In your texthook, read abour ﬁ:e primciples of population growth.

Refer to Graphs A and B bé]ow Answer the following questions.
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i. VVhat rypa of populauon gmwt;h is shown in Graph AT’ ]:xplam this type of growth.
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2. Which graph shows the most ljkely gmwth of a squirrel population living in a forese? [
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3. Which graph shows a populadon’s growth under ideal condidons? Fr

4. Why don't populatons of argnmsms grow indefinitely?
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Use each of the terms below just once to complete the passage.

grows carrying capacity below " births
above under deaths exceed

"The number of organisms of one species that an environment can support is called jts
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(5) {OYvruing FEvi i If the number of organisms in a populadon is {6) __¥oe 0wy the
A

environment’s carrying capacity, births (7) _ €4 €4C fﬂ; deaths and the populadon
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{8) f}% C5 . If the number of organisms rises (9) (LD O£ the carrying capacity

of the environment, (10) _~ venh will exceed (11) NirEhS . This paceern will

- . . . . [P SO A .
continue undl the population is onee again at or (12) _ LA TLER the carrying capaciry.
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Population Bioloay. continued

Sectmn 4.1 Population Dynamics,
continued

Circle the letter of the choice that best completes the statement.
43. The most important factor that decermines population growth is the organism’s
WD

a. sccial parem. b. carrying capacity.
{g ‘Jreproductive parrern. d. feeding pattern.
14. Organisms that follow a rapid life-history pattern
a. have shortlife spans. b. have small bodies.
¢. reproduce eirly. @’* all of the above
15. Organisms that follow 3 slow life-history parern
a. have small bodies. b, marure rapidly.
@ reproduce slowly. d. ull of the above
16. A limiting factor that has an increasing effect as population size increases is
3. temperature b, habitar disruprion.
c. drought @ COmpetiton.

In your textbook, vead ahout bow prgunisn interactions limnit population size.,

Answer the following,

17. The snowshoe hare j5 a primary source of food for the Canadian lynx. Explain how the lynx
populamon size changes when the hare populatmn increases.
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18. Explain how the change in the [ynx popu!anon size a‘fects the hare popu!ﬁnon
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19. What is the relnuonship berween the lynx and the hare called?
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20. When does competition decrease the size of pt:)puim:mrﬁl
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21. Whar can cause a organism to E\'lublt stress, and what symptoms of stress can lead to a decrease

3
in population size: -
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